
YEAR TWO HOMEWORK
Note: Show all your workings
1.  5 x 8 =
2. 22 x 7 =
3. 15 x 3 = 15+15+15 (a) true  (b) false
4. How many legs have 52 cows 
5. 30/15 =
6.  25/5 = 
7. Divide 21 biscuits equally among 7 children                                                                                                                                                                       
8. 12 +           15+5 = 20
9.             - 643 = 248
10. How many kobo makes one naira

                             








English studies
Change the following sentences to plural
Example: That ox is strong.                     Those oxen are strong
1. That child is playing.                             ......................................
2. That man is rich.                                   ......................................

Fill in the gaps with the past tense
3.  Dele................. his clothes last week (a)washing (b)washed (c)washen
4. I............. late to school (a)am (b) was (c) being
5.  Yesterday, Yemi.............. the floor (a)swept (b) sweep (c) sweeping
Fill in the gaps using 'many', ' some' and ' few'
6. She has a ........... eggs left
7. Ada has a.............. oranges
Use 'a' and 'an' to complete the sentences
8. Dogs is ......... domestic animal
9. The girl bought......... egg
10. I bought ........ orange.

 




